
Answer on Question #75516, Physics / Optics 

 

An object is placed 60 cm from a screen. Where should you place a convex lens of focal length 15 cm to 

get the image of the object on the screen? 

 

 

 

Answer: 

Let : 𝐹 − 𝑓𝑜𝑐𝑎𝑙 𝑙𝑒𝑛𝑔𝑡ℎ, 𝑓 − 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑓𝑟𝑜𝑚 𝑖𝑚𝑎𝑔𝑒 𝑡𝑜 𝑙𝑒𝑛𝑠, 𝑑 − 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑓𝑟𝑜𝑚 𝑜𝑏𝑗𝑒𝑐𝑡 𝑡𝑜 𝑙𝑒𝑛𝑠 

According to thin lens formula: 
1

𝐹
=

1

𝑓
+

1

𝑑
=

1

0.15
 

Also, in our case, distance from object to screen is fixed: 𝑓 + 𝑑 = 0.6 

 

So, we have:{
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From this, we find 𝑓, 𝑑: 

𝑓 = 0.3𝑚 

𝑑 = 0.3𝑚 

 

So, you have to place a lens exactly in the middle. 
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